$\frac{J3}{65/73/82/91/92/98/106/108/18}$ $e^{X^{2}}e^{(2x+1)} = e^{t}$ $e^{X^{2}+2x+1} = e^{t} \implies t = x^{2}+2x+1$

 $(4) y = \ln(30e^{-0})$ $y' = 30e^{-0} - 1 + e^{-0} = -0 + 1 = -1 + \frac{1}{6}$ $30e^{-0}$

(2) $y = e^{(\cos t + \ln t)}$ $y' = e^{(\cos t + \ln t)}$ $y' = e^{(-\sin t + \frac{1}{t})}$

(23) $y = \int_{0}^{\ln x} \sin e^{t} dt$ $y' = \sin e^{\ln x} \cdot \frac{1}{x} = \frac{\sin x}{x}$

$$\Rightarrow$$
 $lnx + lny = e^x e^y$

$$\Rightarrow \frac{1}{x} + \frac{y'}{y} = e^{x} \cdot e^{y} \cdot y' + e^{y} e^{x}$$

$$y' - \frac{e^{x+y} - \frac{1}{x}}{(\frac{1}{y} - e^{x+y})}$$

$$38) \int \frac{e^{-\sqrt{r}} dr}{\sqrt{r}}$$

$$4) \int \frac{e^{1/X}}{X^2} dx$$

$$= -\int e^{u} du$$

$$= -e^{x} + C$$

$$= -e^{x} + C$$

$$u = -\sqrt{r}$$

$$du = -\frac{1}{2\sqrt{r}} dr$$

$$U = \frac{1}{x^2} dx$$

$$du = -\frac{1}{x^2} dx$$

$$\int_{0}^{\sqrt{\ln \pi}} 2x e^{x^{2}} \cos(e^{x^{2}}) dx \qquad u = e^{x^{2}} du = e^{x^{2}} 2x dx$$

$$= \int_{0}^{\sqrt{\ln \pi}} \cos u du = \sin u = \sin e^{x^{2}} \int_{0}^{\sqrt{\ln \pi}} \sin e^{x^{2}} du = e^{x^{2}} 2x dx$$

$$= \int_{0}^{\sqrt{\ln \pi}} \sin u = \sin$$

$$\frac{dy}{dt} = e^{-t} \sec^{2}(\pi e^{-t}), y(\ln t) = \frac{2\pi}{\pi}$$

In hich value problem
$$\int dy = \int e^{-t} \sec^{2}(\pi e^{-t}) dt, \qquad \int u = \pi e^{-t} dt$$

$$y(t) = \int \frac{1}{\pi} \tan(\pi e^{-t}) + C$$

$$\Rightarrow y(\ln t) = \frac{2\pi}{\pi} = \frac{1}{\pi} \tan(\pi e^{-\ln t}) + C$$

$$= \frac{2\pi}{\pi} = \frac{1}{\pi} \tan(\pi e^{-\ln t}) + C$$

$$= \frac{2\pi}{\pi} = \frac{1}{\pi} \tan(\pi e^{-\ln t}) + C$$

$$= \frac{2\pi}{\pi} = \frac{1}{\pi} \tan(\pi e^{-\ln t}) + C$$

$$= \frac{2\pi}{\pi} = \frac{1}{\pi} \tan(\pi e^{-t}) + \frac{3\pi}{\pi}$$

$$y(t) = \frac{1}{\pi} \tan(\pi e^{-t}) + \frac{3\pi}{\pi}$$

$$(5) \quad y = 2^{\sin 3t}$$

$$(65) \quad y = 2^{\sin 3t}$$

$$(65) \quad y = 2^{\sin 3t}$$

$$(65) \quad y = 2^{\sin 3t}$$

$$73 \quad y = \log_3\left(\left(\frac{x+1}{x-1}\right)^{\ln 3}\right)$$

$$y = ln3 log_3\left(\frac{X+1}{X-1}\right)$$

$$y = ln 3 \cdot \frac{ln \left(\frac{X+1}{X-1}\right)}{ln 2}$$

$$y = \ln(x+1) - \ln(x-1)$$

$$y^1 = \frac{1}{x+1} - \frac{1}{x-1}$$

(82)
$$y = t \log_3(e^{(sint)(h_3)})$$

y' = t. Cost + Sint

TUDENTS-HUB.com Uploaded By: 1210711@student.birzeit.edu

$$\begin{array}{lll}
91) & \int_{2}^{4} x^{2X} (1+\ln x) dx \\
& = \int_{65536}^{65536} & \int_{104}^{2} & \int_{104}^{2} 2x \cdot \int_{104}^{2} 1 \\
& = \int_{2}^{65536} & \int_{2}^{4} & \int_{104}^{2} 2x \cdot \int_{104}^{2} 1 \\
& = \int_{2}^{4} & \int_{16}^{2} - 2^{4} & \int_{16}^{4} - 2^{4} \\
& = \int_{1}^{4} & (4^{8} - 2^{4}) & \int_{1}^{4} & 2 \cdot \int_{1}^{4} + \ln x \cdot 2 \\
& = \int_{1}^{4} & (4^{8} - 2^{4}) & \int_{1}^{4} & 2 \cdot \int_{1}^{4} + \ln x \cdot 2 \\
& = \int_{1}^{4} & (4^{8} - 2^{4}) & \int_{1}^{4} & 2 \cdot \int_{1}^{4} &$$

$$\frac{g_{8}}{\sqrt{2}} \int_{-1}^{4} \frac{\log x}{x} dx \qquad \left(u = \log x \atop du = \frac{1}{\ln 2} x dx\right)$$

$$- \ln 2 \int u du = \ln 2 \cdot \left(\log_{2} x\right)^{2} \int_{-1}^{4} = \ln 2 \cdot \left(2^{2} - 0\right)$$

$$= \ln 2 \cdot \frac{u^{2}}{2} = \ln 2 \cdot \left(\log_{2} x\right)^{2} \int_{-1}^{4} = \ln 2 \cdot \left(2^{2} - 0\right)$$

$$= 2 \ln 2 = \ln 4$$

$$\frac{(u = \log_{8} x)}{x (\log_{8} x)^{2}} \qquad \left(u = \log_{8} x \right)$$

$$\frac{du}{du} = \frac{1}{\ln 8} \cdot dx$$

$$\frac{du}{du} = \frac{1}{\ln 2} \cdot dx$$

$$\frac{du}{du} = \frac{du}{du} = \frac{1}{\ln 2} \cdot dx$$

$$\frac{du}{du} = \frac{1}{$$

$$\begin{aligned}
INS & y = (\ln x)^{\ln x} \\
\ln y &= \ln (\ln x)^{\ln x} \\
\ln y &= \ln x \cdot \ln(\ln x) \\
\frac{y'}{y} &= \ln x \cdot \frac{1}{x \ln x} + \ln(\ln x) \cdot \frac{1}{x} \\
y' &= (\frac{1 + \ln(\ln x)}{x}) \cdot (\ln x)^{\ln x}
\end{aligned}$$